KENDRIYA VIDYALAYA SANGATHAN, PATNA REGION
SUMMATIVE ASSESMENT-I (2015-16)

CLASS-X
SUBJECT- SOCIAL SCIENCE
BLUE PRINT
BOOKS CHAPTER VSA SA LA Total No. Of | Total Marks
NO 1(Mark) 2(Marks) 5(Marks) Questions
History 4or5o0r6 3(2) 5(1) 03 11
7or8 1(1) 3(2) 5(1) 04 12
Geography 1 1(1) 3(1) 5(1) 03 09
2 5(1) 01 05
3 3(1) 01 03
4 3(1) 01 03
Map 01 03
Political 1 1(1) 5(1) 02 06
Science 2 1(1) 3(1) 02 04
3 1(1) 3(1) 02 04
4 3(1) 5(1) 02 08
Economics 1 1(2) 3(1) 5(1) 04 10
2 1(1) 3(2) 5(1) 04 12
Total 30 90
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SUBJECT- SOCIAL SCIENCE

Time: 03 Hours M.M:90
General Instructions:

vi.

The question paper has 30 questions in all. All questions are compulsory.
Question from serial number 1 to 8 are very short answer question and each carries 1 mark.

iii. Questions from serial no. 9 to 21 are 3 marks questions. Answer of these questions should

not exceed 80 words each.

Questions from serial no. 22 to 29 are 5 marks questions. Answer of these questions should
not exceed 120 words each.

Question number 30 is a map question of 3 marks (Only from Geography)

Attach the filled up map inside your answer book.
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Name the oldest Japanese book 1
ST &1 Fad Y= g&des dl = ol |

OR

In which language did Premchand begin writing?

S o for A # foraem g b or?

Which is the most important soil of India? 1
WRA H FeY ASdYUl HaT $IF Al 87

What is vertical division of power? 1
Al BT IedfeR fIaRor 1 oy a1 |Hsid 27

What is federalism? 1
HH aRelT | A FAT TS 57

What is a “homogeneous society”? 1
FASY FHNGT A 3T R FHSI 27

Which organisation publishes the Human Development Report? 1
DI A e A e gadid USRI AT 57

Define per capita income? 1
T Safad M’ & 3MY FAT AHS &7

Abbreviate ‘NREGA’ 1
‘NREGA’ &1 ot %u fafag |

Explain the three types of flows within the international economic 3
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exchanges during 1815-1914.

1815 % 1914 & Ty JRIEIT anfefp faferar § N9 YR & ydrel &1 ol Iy |

OR

Who were the Jobbers? Explain their functions.

SR DI ? 9D Bl Bl faavor SR |

OR

What led to the major expansion of Bombay’s population in the mid 19"

century?

G A & A H d93 D ST 967 @ DIA—PI H HRUT A?

How did the rinderpest reached Africa? How did this create a havoc for the

African people?

REIURT BIPT B TgaT? ABIDHI AN B Y g AW DY 9 7=7?

OR

Explain the miserable conditions Of Indian weavers during the East India

company’s regime in the eighteenth century.

JOREG! TAT] H S AT FUN & AP H IRAI AR Dl ga=ig Reafe &t

ol BHIRY |

OR

How does urbanisation pose a threat to environment?

TENHIOT JATERT & oIy WaRT 999 737 H?

Where did the earliest form of print technology develop? How were

the early books printed?

RMAH e Th-ild @1 fdbrd Bel gl oa1? ARMD Jead o4 Ul of?

OR

Name the first novel written by Bankim Chandra chattopadhyay. Examine the

main features of this novel.

s aceIeaTd gRT ford Y oM Sy & AW fiRay| 39 SuTe @ g

faRryaat &1 uieror BT |

How did print culture contribute the growth of nationalism in India?

&I AR 7 59 THR IRA # IgA1g B gerdr <F | anred fear?

OR

Who is the writer of the novel ‘Pariksha Guru’? What was its theme?

TRIET [ ST & oGd DI A? IH YA Bl G I T 1?

Mention any three difference between renewable and non-renewable

resources.

TFIHRUNY 3R AN FATeHT § Blg o9 fdx fIlay |

What is a multi-purpose project? Mention any two objectives of multipurpose
roject.

ggxaja%‘l‘m qRITST RIT 2?7 $H9d Big &l Igawl &l faRay |

Name two plantation crops. Mention any two geographical conditions required

for their cultivation.

U BT B &l SaERY ST | $HS] Wl & oy Magdsd ol HFNfoid el &l

Ieel DI |

What do you understand by the three tiers system of Indian federation?

R AR SFaRelT & oI WRIg Ja=ell | 39 R FHSrd 87

Who was Peter Norman? How did he support Tommie Smith and John carlos

in their protest against racial discrimination?
Giex AT ®IF o017 IA- Sl RAY iR SF BT &1 A%l We 919 @ fdog fojer |
& e e or?

Mention any two constitutional provisions that make India a secular state.
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fgl <1 Adurf=e YTaam=l BT Seed BITY ST IRA BT Ydh e¥—"RUeT I §91aT © |
In what respects is the criterian used by the UNDP for measuring development

different from the one used by the world Bank?
J0 TH0 B0 Wo §RT e A # IWART far Tr ImeR fhw UeR favaded gwr
IUANT A Y et & =1 &7
Differentiate between economic and non-economic activities.
afafes 3R IR—anfdfe farar # ofcr forRau |
What do you understand by disguised unemployment? Explain with an
example.
ol g8 IRIGHINT A 37U AT qH3Id 8?7 Yeb SaTexvl §RT g4 FHSSY |
Explain the causes of the Great Depression.
i HETHE & HIROT B AT BT |
OR
Why did some industrialists in nineteenth century Europe prefer hand labour
over machines?
IS Wl b JRY H FY IGANTART Tl BT I BT H B BIdTel SAADT Bl
i@ &I <d o?
OR
“London was a powerful magnet for largest population” explain.
died 91 ST & [l Ush idkiiell 9 AT $9 HAT B ARAT DI |
How did the knowledge of printing spread to all parts of Europe? What were
its effects?
& BT A RY S A AR F S BeAr? gD R J91d TSl?
OR
Examine the contribution of Munshi Premchand in achieving excellence in
Hindi Literature.
fel—afed &1 Sl aF # e UEe & IRTeM &1 U SHifom |
What is land degradation? Explain any four causes of land degradation.
A IR | M9 a1 e &? YA—TIaxol & fh=l IR BRI &1
faeaxor Eifory |
How forests are classified in India? Explain them.
IRA H a9 &7 TR0 dd fHar 11 2?2 U&d & v By |
Explaln the major forms of power sharing in modern democracies.
IS Aras W Tl & fave & faf= sl &1 W faver T |
Mention different aspects of life in which women are discriminated in India.
Ga & I~ el &1 Seo@ @ifoiy o YRa # Afeereli & |1 wg—wa e
ST B |
Distinguish between developed and developing countries.
famRrd iR fa@mraeiiar <ul # oidv forRay |
What are the three sectors of economic activities? Describe with an example.
ffe feameil & 9 &5d BIT—ad J 8° TJd BT ST Afed xSy |
Locate and Label the following on the given political outline map of India.
I. Kaziranga National Park
ii. An area of desert soil
iii. The Iargest tea producing state.
Rd & Ry 7Y o ifae Y@ 9Hfas ) =faRad o fearsy—
1. BRI I IGAT
2. AHWIE a1 & Uh &
3. I bl UHY 3dIqdh Y
OR
Three features with serial number (a) to (c) are marked on the political outline




map of India, Identify these features with the help
of the following given information.

a. Soil type

b. Leading jute producing state

c. Adam
U U YRT B IoIfe XEEERE ) U0 9 Wo ffed & T2 21 T & e
STFHR & FerRIdl 9 38 gdiy 3k fRu v wameff wR wg) 7 falkay |

1. T & Uh UHR

2. T P U IAEH 5T BT AW

3. Ud 91 BT M

™, o BT N INDIA POLITICAL

/ = qET STl
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MARKING SCHEME

Diamondsutra

Urdu Language

Alluvial Soil

Division of powers between different levels of the government i.e central level, state level
and local level

A system of government in which power is divided between a central authority and
various constituents of the country

A society with similar kinds of people or inhabitants without any significant ethnic
differences

United nations development programme ‘Or’ UNDP

Average Income is also called per capita Income. It is obtained by dividing the national
income by the population of the country, i.e

National Income
Per Capita Income=
Mid year population
National Rural employment guarantee act
i Flow of Trade
ii. Flow of Labour
iii. Flow of Capital (description of the points)
Jobbers were usually employed by the industrialists to recruits the right people for work.
Functions of a Jobber were
i Getting people from villages
ii. Ensuring them jobs
iii. Helping them to settle in the city and to provide them money in times of
crisis.
Bombay become the capital city of the Bombay presidency in 1819. Opium and other
trade grew, Large communities of traders and bankers as well as artisans and shopkeepers
come to settle in Bombay. Establishment of textile mills etc.
Arrival in the late 1880s, carried by infected cattle imported from British Asia to feed
Italian soldiers. Very soon it moved westward like forest fire to Atlantic coast. Along the
way rinderpest killed nearly 90% of the cattle. In this way African people were losing their
livelihood. Africans had to join the labour force.
The company established indirect control over the weavers through Gomasthas. The new
system prevented the weavers from dealing with other traders. In 19" century British
machine-made goods flooded in Indian market. Indian weavers export market collapsed
and local market shrank. Indian weavers could not get sufficient supply of raw cotton of
good quality. By the end of 19" century, Indian factories began production. Weavers could
not compete with machine and could not survive.
Factories growing the demand for space. Clearing forests, cutting trees and flattening
ground spoils the natural environment and habitat. Large quantities of waste products
polluted air and water while excessive noise caused noise pollution. Widespread use of
coal in homes and industries, smokes from chimneys of factories and homes through black
smoke into the atmosphere causing breathing problems and diseases. (any other relevant
cause)
The earliest print technology was developed in china. By AD 594 onwards books in china
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were printed by rubbing paper against the surface of the wood blocks. Wood carvers
carved out the desired design on the block and upplied ink on the desired part to be in
printed on the paper.
Durgeshnandini was the first novel of Bankimchandra. This novel proved that writing
novel had reached an excellence under bankim. Another of his great works “Anandamath”
had a great Impact on the mind of the Bengali as well as on Indians as it inspired the
people with nation alism etc.

a. New ideas and debates

b. Connecting various communities

c. Print and news papers

d. Various images of bhartmata

e. Various novels on national history
Srinivas Das
Theme- a. Reflects the inner and outer world of newly emerging middle classes.
b. in this novels, the author tries to teach the readers the right way to live.
Renewable resources can be renew after a period of time. Unlimited quantity examples-
forest, water resources etc.
Non-renewable: It cannot be renew, limited quantity e.g. minerals resources (any three

points)
River valley projects which serves many purpose simultaneously.
Purposes

i Flood control

ii. Power generation

iii. Irrigation

iv. Fishing (any two)

Tea, coffee, Rubber, sugarcane (any two)
Two geographical conditions are

i Rainfall 150 to 200 cms

ii. Temperature 20°% to 30%¢c

iii. Well drained soil (any two)

i Central Government or Union government

ii. State government

iii. Local government (Description in brief)
Peter Normans was a white Australian athlete. He supported two African American by
wearing a human rights badge on his shirt during the medal ceremony in 1968 Olympics.

i There is no official religion for the Indians state

ii. The constitution profidest all individual and communities freedom to profess,

practise and propagate any religion. (any two points)

Criterion used by UNDP-it calculates human development index which is the simple
average of three indices longevity, knowledge and per capita income. Differentiate
countries by rating 0 to 1
Criterion used by world bank per capita income, countries are grouped in to two groups.
Rich countries and low income countries.
Economic activity. Give income contribute towards national income e.g. A farmer working
in the field. A teacher teaching in the school.
Non Economic activity: Not related with income, no contribution in GDP e.g. A teacher
teaching his son in his home. A mother cooking in her kitchen etc.
Disguised unemployment: it means that there are more people engaged in a work than
are actually required and as such their withdrawal from work will not reduce the
production. It is specially found in agricultural work. Any example required.
Causes of the great depression are
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i Prices slumped and agricultural income decline.
ii. In the first half of 1928, US began to withdraw their loans from the European

countries
iii. US banks slashed domestic lending and stopped bank loans.
iv. Business collapsed
V. US banking system collapsed (any other point)

i New technology was expensive

ii. Machines often broke down and repair was costly

iii. In Victorian Britain, there was no shortage of human labour.

iv. In seasonal industries, industrial etc usually preferred hand labour, employing

workers only for the season, when it was needed.

London attracted large number of migrant people through earlier industrial cities like
Manchester and leeds. 19" century London had a large population consisting of clerks,
shopkeeper, artisans, soldiers, casual labours etc
With the growth of industrious, people from all parts began to pour in London.
Five major types of industries employed large number of people.
In 1295, Marco polo returned to Italy from china. He gathered the knowledge of
woodblock printing from china. After his return the Italians learnt the technique of
woodblock printing and began to produce books with the holds of their knowledge. Soon
the technology spread t other parts of Europe. Merchants and students bought the
cheaper printed books, demands of books increased, book fairs were also held which
attracted people to books.
One of the greatest novelists of modern India. Two well known novels written by munshi
premchand are rangbhoomi and Godan. ‘Godan’ published in 1936 is considered the best
work o f munshi premchand. It is an outstanding novel depicting the life of the Indian
peasantry. The novel tells the moving story of Hari and his wife dhania a peasant couple,
land lords, money lenders priests and colonial bureaucrats all those who hold power in
society form a network f oppression, role their land and turn them into land less
labourers. Yet hori and dhania retan their dignity till the end.
Loss of fertility of the soil by different causes is termed as degradation of land.
Causes of land degradation.-

i Soil erosion in different areas.

ii. Human activities such as over grazing, shifting cultivation etc.

iii. Deforestation.

iv. Mining (any four causes)

i Reserved

ii. Protected

iii. Un-classed (Explain the points)

i Horizontal distribution of powers

ii. Vertical distribution of powers

iii. Power sharing among political parties, pressure groups and Movements

groups. [Explain the points]

i At literacy Level

ii. At the economic level

iii. Decline in SEX Ratio

iv. High Crime Rate against Women.

V. Less participation in politics. (Explain the points)
Developed countries

i Higher per capita income

ii. Comodities produced in a large scale with the help of modern technology

iii. High standard of living

5



iv. Literacy rate more

V. Life expectancy more

Vi. Example-USA, Britain etc
Developing countries

i. Less per capita income,

ii. Commodity produced in small scale

iii. The standard of living is not high

iv. Literacy rate low
V. Life expectancy less
vi. Example-India, Pakistan
29 i Primary Sector-Agriculture forestry, Mining etc

ii. Secondary sector Manufacturing Industries.

iii. Tertiary sector-Banking, Transportation, etc.  (Define all three sectors)
30 Map Work
Or a. Black Soil

b. West Bengal

c. Hirakund



